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13

address>

IRE WIFI B9 DHCP, IP, FRIFIIFRIMKZ

<NR1>.<NR1>.<NR1>.<NR1>

24




]

ES i5E8 28 iBEHE
s
B, RISTHIIA WIFI EHREFTH BRERHEE
ErT
14 SYSTem:COMMunicate:SOCKet:WLAN:ADDRess? Z=i8 WIFI A9 IP Htik IP bk
7
SYSTem:COMMunicate:SOCKet:WLAN:MASK ~ <IP 8= WIFI B9Fmirg IP it AT | SH=FE, 181 7
address> %8 WIFI §9 DHCP. IP, FM#EREFIMAXZ | <NR1>.<NR1>.<NR1>.<NR1>
15
B, RISTHEIA WIFI EREF T BRER T
B
16 | SYSTem:COMMunicate:SOCKet:WLAN:MASK? i) WIFI f9FR3853 IP b1k
p
SYSTem:COMMunicate:SOCKet:WLAN:GATeway 8= WIFI B9R% IP Hiht AH S 1S =FE, &k ¥
<IPaddress> %8 WIFI 9 DHCP, IP, FM#EREFIMAXZ | <NR1>.<NR1>.<NR1>.<NR1>
17
B, RISTHEIA WIFI EREF T BRER T
B
18 SYSTem:COMMunicate:SOCKet:WLAN:GATeway? =18 WIFI R |P ik
96
19 | SYSTem:COMMunicate:SOCKet:WLAN:MAC? i) WIFI g4ttt IRt
7
SYSTem:COMMunicate:SOCKet:WLAN:DHCP[:STATe] %8 WIFIDHCP A7, 1=ONFJF DHCP; i
<Boolean>| OFF|ON & WIFI 89 DHCP, IP, FRIERBFIMKZ | 0=OFF:5XiF] DHCP
20
B, RISTHEIA WIFI EHREFTH BRER T
EAT
SYSTem:COMMunicate:SOCKet:WLAN:DHCP[:STATe]? | 251 WIFI DHCP k75
21 7 1: DHCP #JFF;
0: DHCP %A
55 | SYSTem:COMMunicate:SOCKet:WLAN:SSID? [ALL] WRSH ALL, UHTEER, FHRERES {[ “ssid: 1nEEA" 1}
%

25




]

- ES 588 84 iREIE
=
12ZREIRY SSID BFRFINNZTT T, NRBEES
%, WREIZFHERERY SSID FFRFIINZETS
X, IREEESEEREARIRE"
SYSTem:COMMunicate:SOCKet:WLAN:CONNect EE WIFI Zli8E#s 1) " ssid” FALBIR, w5 |1SHFRES; I
<”ssid”>,<”encryptionMode”> [,<”password”>] 2) "encryptionMode” IZFI,
WEP_OFF, WEP_ON,
WEP_AUTO, WPA PSK, WPA TKIP,
WPA2_PSK, WPA2_AES, CCKM TKIP,
2 WEP_CKIP, WEP_AUTO_CKIP,
CCKM_AES, WPA PSK_AES, WPA AES,
WPA2_PSK_TKIP, WPA2 TKIP,
WAPI_PSK, WAPI_CERT;
3) "password” ‘Zf3, 5|SHIFRFE
SYSTem:COMMunicate:SOCKet:WLAN:CONNect? =i WIF EERES I Successfully,
Initialization,
SSIDNotFound
SSIDNotConfigured,
24 JoinFaile
ScaningConfiguredSSID
WaitinglPConfiguration
ModuleJoinedListeningSocke
ts
25 SYSTem:COMMunicate:SOCKet:WLAN:DISConnect WA WIFI &2 i

26




]

S L] o BB E
s
26 SYSTem:COMMunicate:SOCKet:WLAN:DBM? 188 WIFI B95538E dBm (B DBM{E, B{i/9 dBm
7
. ieate: . . = =
27 SYSTem:COMMunicate:SOCKet:ETHernet:DHCP? FEEULIAR DHCP $h7S = 1=DHCP, 0=%%%
SYSTem:COMMunicate:SOCKet:ETHernet:DHCP 25F]IFF enable, 1=ON=FJF, 0=0FF=
28 RELIAR DHCP k7S : %
<enable> X
29 | SYSTem:COMMunicate:SOCKet:ETHernet:ADDRess? FRERLAKR [P bk ¥ IP fth3ik
SYSTem:COMMunicate:SOCKet:ETHernet:ADDRess .
30 REFHSIRETLLRR P it ip Btk ¥
<ip>
31 | SYSTem:COMMunicate:SOCKet:ETHernet:MASK? SRENLAK R F- PR T FRIERS
SYSTem:COMMunicate:SOCKet:ETHernet:MASK . P,
32 <mask> 'lﬂgﬁiu\'{krw\-FL/{XWI?Mﬁﬁg mask %M?ﬁﬁg 7
33 SYSTem:COMMunicate:SOCKet:ETHernet:GATeway? SRELAARIRRSE = KA
SYSTem:COMMunicate:SOCKet:ETHernet:GATeway S
34 ) SIRETLA
e BB TR gateway %
SYSTem:COMMunicate:SOCKet:ETHernet:PHYSicaladd
35 EEENLAK R EERS e = YEEIbAE
ress? v
SYSTem:PASSword:EDIT 3ME, =5k, BT
<oldPassword>,<newPassword>,<newPasswordRepea o oldPassword |H % it /{8 2 & P2 0
36 e P B &
. newPassword ¥ %15
newPasswordRepeat #i# i E 5
SYSTem:PASSword:ENABIe:TASK? ) 1AM
37 B S HE R 2R ITE T
REIE 1=, 0=KIFi
SYSTem:PASSword:ENABIe:TASK <enable> i 14ME
38 W B AT 55 B OR T

enable, 0 =3¢, 1 =F)3

27




]

ES i5E8 28 iBEHE
s
SYSTem:PASSword:ENABIe:SENSor? i ) 1/ME
39 WA R P S I R 2 T x
REFE, 1=TFE, 0=RJF4
SYSTem:PASSword:ENABIe:SENSor <enable> i 1/ME
40 T BRI PR B AL (R T
enable,0=2¢1, 1=7FH
SYSTem:VOLume? S = 1/ME
41 ERRSEE o
- - RpEEEED (0~100)
SYSTem:VOLume <per> 11ME
42 KERFEE 7
per, RFESEBSE (0~100)
SYSTem:SCReensaver <timeout> 1/M&E
43 REF{RATE RERETIE), BAfI3E, 1]5110[30/60]-1, H | &
H-1=%]
SYSTem:SCReensaver? 11ME
44 IRENFFR{RATIE] 7 RERETIE), BRI, Hep-1=
X4
1.6 B RIgS
& e L):] 288 iRENE
s
DISPlay:BRIGhtness <type>, <level> RESE 2ME, ESHR

type, Percentage=E%tl, Value=E{ME

Level: BE




DISPlay:BRIGhtness? <type> BEARE 17ME =E
2 type, Percentage=E%tl, Value=E{iM&E
DISPlay:DECimals:CONTrol? SRS R B/ VS % 1ME:
> INERIEY
DISPlay:DECimals:CONTrol <decimal> RERHIEE B INEY 1ME: %
* INEISIER decimal (0,3)
DISPlay:DECimals:REF? REVYMERE B/ 7 11ME:
5. INERISER
DISPlay:DECimals:REF <decimal> RBINEBEETINEUEL 14ME: p
> INEIIER decimal (0,3)
DISPlay:DECimals:CHTemp? ERNERE B p 11ME
7. INERIS AR
DISPlay:DECimals:CHTemp <decimal> IEENEEE S INEEL 1ME 7
> INERIER decimal (0,3)

DISPlay:DECimals:ELECtric? EENEERT, Bk EBRRTVINRRE 7 1ME
> INERISER
DISPlay:DECimals:ELECtric <decimal> ENSER. BE. BEEERINEGEL 1ME 7

10. INERSTEY decimal (0,4)

» DISP1ay :HOME? ERRBLTERE 7% 0 AEEFR@E, 17EER|E
DISP1ay : HOME NERIRE, REERE 7% 7

12 (BRI EREEE)
DISPlay: THEMe? IR ET R % 11ME:

13. FRAEFR

i DISPlay: THEMe : ALLNames? SRENHRISTSRIRTE £REE R 7 HNME, ESHIRE

FRAEFRT, EEEFR2, ...

29




DISPlay:THEMe <themeName>[, <isReboot>] REZAZTA (BERREEN) 2ME, 1EEDRR I
15.
themeName SZSHFERRZTR
isReboot 2RET, AJH, BIRHKIAER
DISPlay:LANGuage? HRAHRIRRIES % 1/ME:
16.
LENESAIRERRTR
2an: zh-CN
DISPlay:LANGuage languageName [, isReboot] REYRIRFIES languageName: i
17.
AH5IS=FRFE, a0 zh-CN
isReboot:
%S, fRME, SHEERENBMIR
%, BWAERIRSE
1.7 BiES
F Ny i
- BS L):] 28 iREE
=
1ME
==tV IV vt i ==tivi )
1 UNIT:TEMPerature <unit_ID>|<”unit_name”> RELRIRTGRERN 7c
“unit_name" N3 ISHIFERFE,
unit_IDAEE
2ME, EESHE:
2 | UNIT:TEMPerature? REHERIRSRERA 7
IRERAERR, RERMI
1.8 (EB1ES
F 5 i
- =104 588 ol ZEE
=

30




]

- ES i5E8 28 iBEHE
=
1 | TASK:INSTrument:COUNt? THIREHE IREHE
2 | TASK:INSTrument:RESult:COUNt? <Guid> SR TERHE Guid:ig&mIGuid RETERHE
ClassName, Base64 =5
3 | TASK:INSTrument:CATalog? < index >,< count > EBERTIRER Index:#CHaiIE&E count: #&E (0-10)
#&, CRC16 %3873
TASK:INSTrument:RESult:CATalog? <Guid>,< index>< | N Guid:ig#ZID, Index:iCiAE, count: #{&8 | ClassName, Base64 4R,
4 ERUSE TERIIFRER
count > (0-10) CRC16 RE&H5
ClassName, Base64 =FfF&{
5 | TASK:INSTrument:INFo? <Guid> EEUSRIFRER Guid:ig#ID
#&, CRC16 1&aH5
6 | TASK:INSTrument:RESult:CLEAr <Guid> WS R TFAIIBE SR Guid:ig#zid
HELEM" condition” :JSon=zfF&, JSon
7 | TASK:INSTrument:SEARch:COUNt? <”condition”> REERRMERIREHE _ REHE
FRHBRPREERIRTR
HELEM" condition” :JSon=zfF&, JSon
TASK:INSTrument:SEARch:CATalog? <”condition”>,< N _ ClassName, Base64 =545,
8 RIEEARMFERIRETIRER FRHBRPREERIRTR N
index >,< count > CRC16 I613
Index:#28A\I&, count: #&E (0-10)
9 | TASK:TEST:COUNt? EEISHE FRHE
10 | TASK:TEST:RESult:COUNt? <Guid> ERES TERYE Guid4E5EHIGuid ESTERYE
ClassName, Base64 =FfF21
11 | TASK:TEST:CATalog? < index >,< count > ERUESSIRER Index: #2848 count: #& (0-10)
iE, CRC16 RI8HT
TASK:TEST:RESult:CATalog? < Guid >,< index >,< ~ GuidAESID, Index:iEIafIE, count: (& | ClassName, Base64 FFEUE,
12 ERES TERFIRER N
count > (0-10) CRC16 1675
ClassName, Base64 T4l
13 | TASK:TEST:INFo? <Guid> ERUESHEMERS GuidA4F$ID
&, CRC16 &
14 | TASK:TEST:RESult:CLEAr <Guid> WIEMES TERELER Guid: {F%ID
15 | TASK:TEST:SEARch:COUNt? <”condition”> RIEREEaISEHE HMELEM" condition” :JSon=fF&, JSon FEEHESHE

31




]

o ES 5288 28 iBEHE
=
FRIBPRBEBIRI TR
HEREME" condition” : JSon=fF&, JSon
TASK:TEST:SEARch:CATalog? <”condition”>,< index >,< ClassName, Base64 Z{F53E,
16 RIEEIRESEESIIRER FRIBRARBEBIRI TR N
count > CRC16 5615
Index:#2eaHIE, count: #E&E (0-10)
17 | TASK:RESult:COUNt? R P
ClassName, Base64 Z=FFEGRE,
18 | TASK:RESult:CATalog? <index>,<count> EIERYEER Index:#CeAiI&E, count: #& (0-10)
CRC16 13E&H3
ClassName, Base64 FfFE
19 | TASK:RESult:INFo? <Guid> EEERIFRER Guid: %8 1D
&, CRC16 R3af5
HELEM" condition” :JSon ZFfFE, JSon
20 | TASK:RESult:SEARch:COUNt? <"condition”> BEREERERYE HafHEREE
FRHBRPREERIRTR
HELEM" condition” :JSon=zfF&, JSon
TASK:RESult:SEARch:CATalog? ClassName, Base64 {55,
21 RIEEARMERERIRER FRHBRPREERIRTR
<”condition”> <index>,<count> CRC16 1B&HF5
Index:#284fI8, count: #& (0-10)
TASK SHESEURHITIRIE
RESult XY4EEREUEFHITIRE
INSTrument XHEEFIEHITIRIE
Operation:
22 | TASK:DELete TASK|RESult|INSTrument, <Operation> BB ES\GER\ISF
ALL: XFrEEUIREHITIRGE
Guid: TRIBIDHIT B{E, EEMAGuid
“Guids” : H guid ERHIFRFERTIZ,
ERESHE
23 | TASK:ADD:TEST <data> SIMES data:#dE(Base64 JRII=EST)
24 | TASK:ADD:INSTrument <calssname>,<data> IR E Calssname: 8% data:#iE(Base64 47

32




F s i
- ES i5E8 28 iBEHE
=
BFR)
25 | TASK:ADD:RESult < data > RINEER data:#uE(Base64 JRA3F)
1.9 (ER=RIES
=3 s i
B5S 1588 8H ZEE
=)
17ME
ek 2R
SenorType:RTD|SPRT|CVD|NTC]| 14ME
1 | SENSor:COUNt? <SenorType> SREEREEE B
NTC_SH2|SMART|UUT SRRSOy 4
ERTD=10, SPRT=3, CVD=2,
NTC=1, NTC SH2=12
3ME
{ERkegZEE
SensorType:UUT|SPRT|RTD|CVD|NTC| | 3/ME, EE5R
NTC _SH2|SMART, EH#RTD=10, ClassName, sC Fr
2 | SENSor:CATalog? <SensorType>,<offset>,<count> SREEREEL(ER SPRT=3, CVD=2, NTC=1, List<SensorHeader>
NTC SH2=12 Base64 FF4UE
e Eoffset, CRC16 RIS
Ngcount
UUTIEFRE1&RES
17ME 3NME, 1EZENR
3 | SENSor:INFormations? <id> FRE R/ MERER =R
{&REEEId ClassName, £ FR
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]

- S 5288 o BEE
=
TemperatureSensorinfo
Base64 &R
CRC16 123675
2ME
=S
SensorType:RTD|SPRT|CVD|NTC|NTC_
4 | SENSor:SETSensorinfo:ADD <SensorType >,< "Info"> iR ERkeE 7
SH2, E#RTD=10, SPRT=3, CVD=2,
NTC=1, NTC SH2=12
"Info"J9Base64=F IR
2ME, (ERkEEREY
SensorType:RTD|SPRT|CVD|NTC|NTC_
SENSor:SETSensorinfo:UPDate <SensorType >,<
5 1EERkRS SH2, H9RTD=10, SPRT=3, CVD=2, | %
"Info">
NTC=1, NTC SH2=12
"Info"ABase64=15E1E
17ME,
6 | SENSor:Delete <”ids”> HpREREES _ _ 7
{ERkegids, 5ISMIESHRES
3/ME, ESHE
1ME, ES9E: ClassName, 3L fr 3 List<
7 | SENSor:SEARch? <”condition”> (LRSS (ERLEIEIZRZF" condition” , Base64 SensorHeader >
SRR Base64 FRIEURE
CRC16 IS
3ME, ESHE
8 | SENSor:REF:AVAilable? IRENIMEIEREES RS % IMEERBES L& 1-B L%,

0=RE%
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rg s Ly
- ES i5E8 28 iBEHE
=
INEEREEERNERE, 1=58¢,
2=3F&588
2H09A, 1=9/A, 0=F77H
7ME, ESHRE:
ERkESEIRER,
{ERkES Id,
1ERkes
9 | SENSor:REF[:SENSorinfo]? FREVIMEEREER 7
g\
2579 Smart
Base64 IR
CRC16 RIS
IRE ORDinary FME(ERESER., BAER | 2ME
SENSor:REF[:SENSorinfo]:ORDinary <SensorType >,<
10 " BSEERITENIMNEEREEAERN, FEREIME | (BRkBEEESensorType:SPRT|CVD 7
nro >
{ERRESAIN E 2k "Info"JgBase64F IR
2ME
SENSor:REF[:SENSorinfo]:SMARt <SensorType >,< IRE Smart BIIMEEREHMER., HagiMNE®
n {882 SensorType:SPRT|CVD I
"Info"> FRRES EE
"Info"/gBaseb4F AR
1.10 RIS
F . .
- =104 A ol iREIE
=
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APPLication:DATas:COUNt? <App> SRENN FREEEE 1/ME, BIRIRE, 1/ME,
! POWer=FaRIE R siEsE
STEP =R
SWITch=FFid
SNAPshot=1#E8
CONTrolcurve=44|fhsk
APPLication:DATas:DATa? <App>,<index> SREVN FREERCE M EME (fRizhlthz) | 2 ME, ESHR, 1ME,
? RIF3REY App #0452 Json Ff5E
HIERFS Index (tRERJ9 Base6d FRIEE,
EHIRZ USRI E , IR RN
)
APPLication:DATas:DELete <App>,<Index> TR Rz FR%= 24ME, E59R, %
3 RIFE App
HIEFS Index
APPLication:DATas:DIAGNosis:RESult:LENGth? A e N SR 1/ME, X" path” 1/ME,
| cpatirs IR
APPLication:DATas:DIAGnosis:RESult:DATa? AN ek R FREOE 3/ME, BESRE: 2ME, ESHRE:
> | <paths,<indexs,<Count> S#eEE" path” SCIRMEE, Base6d SIIHIE
A mBibiL Index CRC16 13853
<E Count
1.11THART {§$
F
- B 1588 Eodo iR[EHE
=
HART:SEARCH HART 182 Start: FHAEER;
- Start|Stop | Zero[,<Numeric>][,<Numeric>] Stop: FIHER;
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Zero: REZ 0 it
i¥: Start # Stop SR EEIE NI
SeEsEm 015"

HART:DEVICES?

REERIENREIIR (HUFNIRESEE)

HART:CONnect<address> EEEREIRNIRE Address:ithit
HART:ONLDEVice:PROCess? - PV: F3FE;
AO: t=HEERE;
%: EEEDLL;
SV: BTETE;
TV: E=F%E;
FV: SEMETE;
LoopCurrent: IREREER
HART:ONLDEVice:PROCess Pl Sur sy PV: FZ%E;
PV|AO|%|SV|TV|FV|LoopCurrent AO: 1EHIEBRIE;
%: EEEDLL;
SV: BTETE; -
TV: B=F%E;
FV: SEMF+TE;
LoopCurrent: IREREER
HART:ONLDEVice:PROCess:VALue? EREEERNE TREERE
HART:ONLDEVice:PARameter? <’name”> HiFSH "name” SHE
HART:ONLDEVice:PARameter[:ECHO] BEBSH "“name” SHHE

<"name”>,<“value”>|<value>

"value” (B (W5|5=/FH, HEF)

HART:ONLDEVice:INFO?

Hifj HART ig&ER

Fh<BHET>

FTEHRTREIMEIREERE
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SHBRFIRNT
Tag
Manufacturer
Devicetype
Deviceid
writeprotect
date
message
descriptor
finalassemble
preambles

universalrev

EESHEMINREENSEE;

hardwarerev
softwarerev
devicerev
HART:ONLDEVice:SENSor? REHERRATESHE TEHE <SHER> FTEHRREHE RS HUE;
10 RIEEES HE IR EENE SHETRIIRAT: EESHETINREENSEE;
sn
unit
Il
url
minspan
HART:ONLDEVice:OUTput? IREI2E HART itHS8(E FTBHE < SHETR> FTEHENREIEE HART HitHE
" BRIEIEES SRR EENE SHETRIRWT: (=
unit EESHETINREENSEE;
Irv
urv

38




damping

transferFunction

12.

HART:ONLDEVice:CONNected?

$XEX HART i&%% Device EH0EE

7

1ME
1=BEE, 0=R&k

1ESMITR 1, SCPI B{i Id 5z

Bafi Id =173
2000 XA
32767 =
1211 mA
1212 WA
1209 A
1240 Vv
1241 mV
1281 o)
1284 kQ
1283 MQ
1000 K

39




1001 °C
1002 °F
1003 °R
999 °Re
1005 °
1342 %
1133 kPa
1130 Pa
1131 GPa
1132 MPa
1134 mPa
1135 uPa
1136 hPa
1137 bar
1138 mbar
1139 torr

40



1140 atm

1141 psi

1142 psia

1143 psig

1144 gf/cm?

1145 kgf/cm?

1147 inH20@4°C
1148 inH20@68°F
1150 mmH20@4°C
1151 mmH20@20°C
1153 ftH20@4°C
1154 ftH20@68°F
1156 inHg@0°C
1158 mmHg@0°C
2001 mtorr

2002 Ib/ft2

41



2003 tsi

2004 psf

2005 inH20@60°F
2006 ftH20@60°F
2007 cmH20@4°C
2008 mH20@4°C
2009 cmHg@0°C
2010 mHg@0°C
2011 kgf/m?

EOMIE 2, BUATIMERES

R RE fERBLFELHER)
R400 400 Q /R400

R4k 4k Q /R4K

Pt100-385 Pt100(385)

Pt10-385 Pt10(385)

42



Pt50-385 Pt50(385)
Pt200-385 Pt200(385)
Pt400-385 Pt400(385)
Pt1000-385 Pt1000(385)
Pt25-385 Pt25(385)
Pt100-3916 Pt100(3916)
Pt100-3926 Pt100(3926)
Pt100-391 Pt100(391)
Cu100-428 Cu100(428)
Cu50-428 Cu50(428)
Cu10-427 Cu10(427)
Ni100-617 Ni100(617)
Ni100-617 Ni100(618)
Ni120-672 Ni120(672)
Ni1000 Ni1000
TC-S s
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TC-R R
TC-B B
TC-K K
TC-N N
TC-E E
TC-J J
TC-T T
TC-C C
TC-D D
TC-G G
TC-L L
TC-U u
TC-LR LR
TC-A A
mV mVv

44



EX
FE | 8RB (EiREiR 588
1 0 No error ToiER
ESHHIR
2 | 120 Commandparameter error ESBEER
3 |-108 Parameter not allowed BHARE, FINTSHRNESET 75
4 |-109 Missing parameter RBE
5 |-110 Command header error B LR
6 |-114 Header suffix out of range 1BSLRIERETE
7 |-123 Numeric overflow Herimt, HERUEEUEXHERT 43
8 |-151 Invalid string data TR FRIER, 405 SAITED
9 |-171 Invalid expression TFRET, FIaNIESAITE
MITHEIR
10 | -200 Execution error HATERR
11 | -221 Settings conflict REME
12 | -222 Data out of range SHEBHIESHEICEE
13 | -223 Too much data HEAZMmEHIERED
14 | -224 lllegal parameter value IFESHE
15 | -230 Data corrupt or stale HHRTTN, BIEEEEEERET, ERREEREE
16 | -240 Hardware error TRt
17 | -256 File name not found SEREUGE
18 | -282 lllegal program name IBERIERE
19 | 220 Measure error MEFEHR
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FS | $HiRD fEiRA 588
20 | 221 Failed to set meaure function PN E TS
21 | 222 Failed to read measure value R EER
22 | 240 Control error EAGIT1ES
23 | 260 Calibration error ROEEEIR
24 | 261 Calibration secured RELTFRIERIPRS, FREITIRUE
25 | 262 Invalid calibration secure code ToHIRIEZ RS
26 | 263 Missing calibration value EEn/EEERUER, IRERERERIER MREREE, SRELER
27 | 264 Missing calibration data EERERER, MIBREREHEH, SREHER
28 | 265 Failed to set calibration function REREIS
29 | 266 Calibration data is not enough HERERESUER, MRESIEREIRE 3 M, SREMER
30 | 271 Setion_name not found REREIRE
31 | 272 Key name not_found IREHERE
32 | 291 Update secured REBLTFHRFIPINE, FEEFAR
33 | 292 Invalid update secure code TR R RS
34 | 293 Not found the service pack REREFARE
35 | 294 The service pack unavailable HEBATH
36 | 295 AppUpdate not found i%HE AppUpdate.exe
IREHEXEIR
37 |-310 System error RFER
38 | -311 Memory error RTFEIR
39 | -350 Queue overflow ATl
40 | -360 Communication error BEEIR
41 | 301 Internal module is not connected RIEZREPELR
42 | 302 External module is not connected RIEZIINERIESR
43 | 303 Supply module is not connected RIEEIEEER
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FS | $HiRD fEiRA 588
44 | 304 Vacuum module is not connected FRIERZ G EER
45 | 361 Open WLAN Failed FTFF WIFI 5L
46 | 362 Set WLAN address mode failed 8 WIFI R
47 | 363 Set WLAN address failed RE WIFI il
48 | 364 Communication port to WIFI module is | 5 WIFI #RANESHOREITH
not open
49 | 365 WLANisnotconnected WIFI R
3IREIHRS

3.1 REF 578
WEFLHFRENTHERSSERNERE. REFRRMEN, S— M SHHEEENETR, KEFUHFHRENNIMEREE. BEEXnT:

| +Hi#sE | EX %88

0 |1 REMR | 1BERO

112 KEMR | 1RO

2 |4 HixbATl | FEIRBAFIIESS

3|8 [EEEUE | [ARREIESFRRA 1 MRS MEE 1 (ERESFRA0E R AL /RERE)
4 116 KEMR | 1RO

5 |32 WESMY | IWERMSEREN 1 MRS ISR 1 (RS FasrEN A NfERE)
6 | 64 IRSBIEK | IEAELIIMY 1 DEEMURE 1 (ERESFasAER RS

7 | 128 BERE | BESESR 1 MBS MUSE 1 (RS FasAIERN A ERE)

& 3-1 REFHEHFHRUEX
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3.2 tRESHSTFR

IWEBMSEREN T UTSEM LB, BSEEER, BOTHR, BIHSIERR, HEBHITT—FOPCIEL.

3.3 RS TFES

RS TRt T X TNELEROER,

i | Hi#EdE | EX %88

0 |1 BE5eRk | *OPC I5< ZRIRIEC £/BHIITREE
1|2 KEA | WBENO

2 |4 REEA | #8A0

318 REHEIR | B, SOEsdEGEEIR

4 |16 PATHRIR | RETHIITIEIR

5 132 B9HEIR | RETIEIEEAER

6 | 64 RER

7 | 128 fntz:] BET— NS EFBIRME

% 3-2 IWHEBMHERAENX

PINEERESER. EAEXT:

i | +isEE | EX L)
0 |1 FBEELE | BEEER
1 12 B3 | BREER
2 |4 KER | 1BEAO
3 |8 FEA | BEA0
4 |16 KREA | BE&AO0
5 |32 FEA | BEA0
6 |64 FEA | BEA0
7 |128 FEA | BEA0
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HEXanT:



256 REEA | BE&AO0
512 FELE | EHEER
10 | 1024 REEA | BE&AO0
11 | 2048 REA | BEAO
12 | 4096 KEA | BEAO
13 | 8192 REA | BEAO
14 | 16384 | KfEA | {AZLHO
15| 32768 | KfEM | 1B/EH0

% 3-3 [AREESFRRAIENX

3.4 BERSHFR

BERSSEREHTREENRFNESE. B EXT:

i | HiHdE | EX %88
0 |1 REA | 1RO
112 KEMR | &R0

2 |4 KEMR | &R0

3 |8 RER B850

4 |16 FENE | REEEHTEDNE
5 132 RMER | B A0

6 |64 RMER | B A0

7 | 128 RMER | B A0

8 | 256 RMER | B8 A0

9 | 512 REEA | 10

10 | 1024 RfEF 4a%H 0

11 | 2048 REEA | 150
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12 | 4096 KREA | ®\E&AO0
13 | 8192 KREEA | ®\E&A0
14116384 | KfEF | 1A% A0
15| 32768 | KfEFH | tA&HO0

%= 3-4 BIPRSEHFSRUEY
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